EANRAROBREIEHRT — 2 N—XBISYH —F 201388108 (+) 2@#HE5H

BN e 58 1600AT ¥5%3ME (BE) UEE] N7 BT
[A&4£] 1 7 :17,400,000 § 2 7% :7,000,000 3 3&:4,400,000 § 4 7% :2,600,000 5 & :1,740,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=« N FlaEX : - WET (EH#
lali7l T7e5> k- o4 | T 1.(1_9).7 10-8  |33.9]106.5| 2 ;1+362) ;Egé )
RiGATATv— BALT1T7Fh—"7 HET77— L
¥ # o5 | EEAA 1:19.8 6-6 34.3|105.5 | 12 | 476 |t EE5L (Ei#)
AREY—2IN=7 5.0 (3/4) o | B EvTLYETr—u
RA—J XA A B:RAXE2—I EvdlLy RT7—L
it 5 | HIDHE 1:19.8 14-14 | 33.7|105.4| 6 500 | SEHRE— (BR)
®%—7 1l R ) oy | PR
L:xrIAMO— BAJLF B pq LS
= g # 5 | RLRK®A 1:20.0 5-5 34.8103.4| 15 | 500 |iEKHE (BR)
J=TNT4—FR 56.0 A 1/4) +2) &) FoF—L—sy
WIS A— B JE—F1—K J—H Ty — I
N . . NN :20. — . . SHE— (ER)
@F—S v HLL b o7 2 (11 210/42) 6-6 34.71101.3| 11 :1_9; -t
x4 FxFT v bV By Rz ILNy b =Y Ty—LA
K o4 | BBER 1:20.2 13-12 [34.2(101.2| 1 468 | KEFE— (XiH)
67|15 1TFFT7 /K 56.0 (7€) +48) ) EVALR&—
R:€>r/07a4 B:LTFqqM> BT 7 — L4
44 | WEEE 1:20.3 10-8 34.5|100.2 | 4 462 | FEEOBARER (FEX)
718116 F—-E> 58.5 (7€) ) |=ER
REATAT v — Bivviuo— HET7— L
= . 4 4 | BAKHE— 1:20.3 12-12 [ 34.4[100.2| 9 474 | MNBKX (EH)
8 12| 77LV—XA 7z 55.0 (74=) () | BlIX=
Riw>NnyghH7r B:OYKRyTH-I "HET7— L4
-5 4 5 | RELER 1:20.3 4-4 35.3/100.3| 3 470 | /NERRER ()
ol 6| VU =47 [B] 55.0 (F2) 42 | B IlsAs
R:ZZyvzlh B:ALRa2INZ— =2e]
S X 46 | LB, :20.3 8-8 34.7/100.2 | 10 | 446 |HAURR (X&)
(12| bo¥FIvE 54.0 (") Cioy | ) $oF—L—sry
Z:707x% B:byHFIXE2—4L4 BRT7— L
PR B i 3 | 2HE 1:20.4 1-1 36.2] 99.6 | 7 468 | BIENH (E)
1|5/ 9|77>7b=>a 51.0 R (o) | BRI
BTSN — BTFATyFTI—> J—HrTr—L
a2 # 5 | HEEER 1:20.5 17-17 34.1| 98.1 | 8 476 | BERANME (35)
12|5[10| ¥ A7 7>227 5.0 (7€) 2) () HAL-2H—
L:T77NTZT B Y L—FR HET7—L
t 3 | BRBEE :20.5 14-15 34.4 | 98.1 5 466 | FWIIEZE (E#)
1311 | AT = LY 52.0 () he | ¥ oRUHE
R:F15 8N B:ZMA—FNE&Y b UK BB
s = o5 | AAER— 1:20.6 16-15 | 34.4| 97.0 | 13 | 462 |MiIZFEHF (FE=)
147|14| ¥/ > T 1 25— 8.0 (1/2) ey | ) 55732
LF=TANT N B3 ZXT-—NT=N biExse
— v ae s IS FRA#ER :20. - . . KBEL ((#
05 RSP it 6 e 1(720t§s 17-18 | 34.1 | 97.0 | 17 3024) *;gié
LRI AY>F— B —LIRELR FRUR N ¢
> 5 4 5 | KEFHRIR 1:20.9 2-2 36.2| 94.7 | 14 406 | RS ()
16 4| ¥ xrEH—u [B] 57.0 @ 4y | ) ¥5TLy k5T 5747
RN IINT A~ BiA ALY EvilLyRT7—L
. t> 5 | BFRX— 1:21.3 2-2 36.6| 91.0 | 16 | 520 |IHERE (XH)
17/8]18| V> v b Rt @ 1/2) (1) | EERE
R:T7FaT 480 B:NILRRYXT HET77—»4L
. JIHEEE :21. — . . RARIEL (E
18l7l13l 2/ N -2 o I8 1(221)6 88 [36.0| 87.5 | 18 (4_880) e
L:xrinqaO— B:T7U—boE— R s
@ 21 L
£y 46.6-35.5
Na>24 4L | 12.0-10.4-10.7-11.1-11.9-11.5-12.1
® I—F—&EBIERL
13—7-
23—7F—
== 9-(4,18)-6,3(11,8) (2,13) (16,17)12,15(1,5)14(7,10)
Mal=5r= 9-(4,18)6,3(11,8)-(2,16,17,13) (12,15)5(1,14)10,7
[ RN
B R 17 4000 | | 71 K 11-17 2,610M | | # & 6-8 2,250 | | 3E®| | 5-11-17 32,760
% B 17 190 5-17 1,000 | | & = 11-17 9,610 | | 3EE | 17-11-5 168,760
1 780M 5-11 5,390M B H 17-11 14,420
5 380

ABICOVWTRDTEEERROODE. TR LIV,



